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28

Answer:

Answer:

1) Find the range of the following set of data: 2) Share 44 in theratio 18:4 3)  Write 8000 in standard form.
19,14,-5,8
Answer: Answer: Answer:
4)  Factorise 52 + 28j + 15 5)  Increase 39 by 65% 6) A number was shared in theratio
2:33. The smaller share was 24.
What was the larger amount?
Answer: Answer: Answer:
7) Find area of square 8) 15x11 9) 'What isthe probability of rolling a
having each side (s) multiple of 5.when rolling adice
s equals 958 ft
s
Answer: Answer: Answer:
10) 157, x 13 ¢ 11) 24.2x46.8 12) Find perimeter of
triangle
b ¢ a=367in,b=485
in,
a €=993in
Answer: Answer: Answer:
13) 14) Factorise g2 + 8q + 15 15)
Find Volume of Find the next three numbersin
Pentagonal Pyramid the sequence

50,0,-5-5-10,-10 , ,

Answer:
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16) 2107,9x 510 ¢

Answer:

17) Find the median of the following set of data:

3,31,32,5,39,7,27,4, 27,19, 2,
11,9

Answer:

18) Factorise 7x2 + 22x + 16

Answer:

19)  Write 1 x 10° asanormal number.

Answer:

20) (-47)x 20

Answer:

21) A number is chosen at random from
1to 50. Find the probability of
selecting even number.

Answer:

22) Find the vaue of 'x' by completing

23) Round 14.5605952 to 3 significant

24)  Simplify 10:22

the square of the following equation: figures.
2+10x +16

Answer: Answer: Answer:

25) Decrease 100 by 26% 26) Find perimeter of 27) 39% of 84
square having each
s side (s) equals 471 m
s
Answer: Answer: Answer:

28)
29__ix

Volume of Cone
21

Answer:

29)

Find Volume of
Rectangular Pyramid
+. 30

Answer:

30) Solve by factorising
f2+6f+9=0

Answer:
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31) (-26) x 16 32) 356.4+ 16.2 33) 356.4+ 16.2
Answer: Answer: Answer:
4
34) (4x 69 + (5x 1% 35) 39 x g 36) 31gx g
Answer: Answer: Answer:
37)  Round 2552 to the nearest 1000 38) Decrease 96 by 3/, 39)  416,5+17%,
Answer: Answer: Answer:
40) Share 42 intheratio 13:29 41) 220+ 10 42)  Write0.5in standard form.
Answer: Answer: Answer:
43) 44) Find perimeter of 45) Solve by factorising
triangle x2-8x+12=0
b b a=895cm,b=
A=25 B 902 cm
Find the Angle at side B. 3
Answer: Answer: Answer:
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46) Decrease 268 by ¥/, 5,

Answer:

47)  Convert the following fraction into a
mixed number: 8/,

Answer:

48) Wo+ 1y,

Answer:

49) 107 + 838

50) Increase 115 by %/,

51) 594.9-56.3

Answer: Answer: Answer:
52) g3, 53) 54)  Round 2.5685 to 3 decimal places.
Find the next three numbersin
the sequence
41,36,54,49,67,6280_, ,
Answer: Answer: Answer:
55) Find perimeter of 56) (-1400) + 40 57) (-651) + 31
triangle
b ¢t a=204m,b=486
m,
a c=817m
Answer: Answer: Answer:
58) 68 * 6° 59) 'What isthe probability of rolling a 60) 550 + 781
even prime number.when rolling a
dice
Answer: Answer: Answer:
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61) Convert the following improper
fraction 5%, + 9%/ into amixed

62)  659-642

63) A number was shared in theratio
6:42. The smaller share was 18.

number What was the larger amount?
Answer: Answer: Answer:
64) 65) Increase226 by %/, 4 66)
27 _, Find Volume of Cone 24 7 Find Volume of
730 Triangular Pyramid
ey 7 0
25 28
Answer: Answer: Answer:
67) 430.1 + 547.2 68) Solve10s?-2s-19=0 69) 16/ 07 11/2
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
70) Find area of 71) Find the mode of the following set of data:
. . triangles=827m 83, 83, 65, 65, 65, 65, 65, 95, 95, Find Volume of
95, 95, 37, 37, 37, 37 Rectangular Pyramid
i 30
Answer: Answer: Answer:

Find Volume of
Rectangular Pyramid

Answer:

74)

Find Volume of
Rectangular Pyramid
+. 30

Answer:

75) 581.4 - 380.1

Answer:

Copyright 2023 - Geek School Tutoring Limited

http://www.geekschool.co.uk



http://www.geekschool.co.uk

Sr: 05092023-3192

Name:
B 11-PLUS
MATHS WORKSHEET [ EWEsE
September 05, 2023 GENERATOR 4 GCSES )
76) Simplify 50:11 77) Find area of 78) 755 + 555
b rectangle having
sidesa= 566 cm
a andb=518cm
Answer: Answer: Answer:
79) 979 - 874 80) Anamount was decreased by 2.4%to || 81)  Findthemodeot thefollowing st of data
$269.97. Find the original amount. 75, 75, 75, 83, 83, 83, 83, 60, 60,
93, 93, 93
Answer: Answer: Answer:
82) \b 83) 84) 2 Yy,-4 B
a o} c ‘Name the type of angle.
Measure angle boc
Answer: Answer: Answer:
85) 2 Hp-4 B 86) \ 87) 18%,0x 810/,
A=T71 B
Find the Angle at side B.
Answer: Answer: Answer:
88) 7 x 100 89) (-747) + (-744) 90) /
'Name the type of angle.
Answer: Answer: Answer:
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4:22. The smaller share was 10.
What was the larger amount?

Answer:

fraction 142/5 + 10 into amixed
number

Answer:

91) Convert the following mixed number 92)  Findthemean of the following set of data: 93) Decrease 90 by 5%
205/, into an improper fraction. 1,13,0.2,19,0,0.7
Answer: Answer: Answer:
94) 95) Find the mean of the following set of data: 96) A number was shared in theratio
31,08 4:22. The smaller share was 10.
What was the larger amount?
Name the type of angle.
Answer: Answer: Answer:
97) A number was shared in theratio 98) Convert the following improper 99) (-990) - 460

Answer:

100)  (-541) - 261

Answer:

Total: /100
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Answers:
1) 24 2)2:42 3)8x 103 4)(1j+5)(j+3) 5)64.35 6) 396 7) 917764t
8) 165 9) Yy 10) 6%, 11) 1132.56 12) 1845in 13) 13038.924726597 14) (q + 3)(q +5)
15) -15,-15,-20, 16) 148, 17)27 18) (I + 2)(x +8) 19)100000  20) 21) Yy
22) (x+5)2-9 23) 14.6 24)5:11 25) 74 26) 1884m 27) 32.76 28) 13392.609482253
29) 9300 30)f=-30r-3 31) 32) 22 33) 22 34) 31109 35) %,
36) %y 37) 25.52 38) 87 39) 508/ 0 40)1:41 41) 22 42)5x 101
43) 155 44)2699cm  45)x=60r2  46) 262 47) 2 48) 2%/, 49) 945
50) 125 51) 538.6 52) 59, 53) 75,93,88, 54) 2.569 55) 1507m 56) -35
57)-21 58) 613 59) Y 60) 1331 61) 157/, 62) 17 63) 126
68)s=150r- 16
64) 4417.8646691106 65) 236 66) 3248 67) 977.3 13 69) 16/, 70) 296149.94419244m
71) 65 72) 9300 73) 9300 74) 9300 75) 201.3 76)50: 11 77) 293188cm
78) 1310 79) 105 80) $263.49  81)83 82) 139 83) Right 84) 4107/
85) 410 . 86) 109 87) 164%Y,,,  88) 700 89) -1491 90) Obtuse o1) 386/,
92) 5.65 93) 85.5 94) Acute 95) 15.9 96) 55 97) 55 98) 2447/
99) -1450 100) -802
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